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O O 0O O AorBWhen faced with the decision of A or B, quite a
few would claim that A, but others, in contrast, deem B as the
premier choice and that is also my point. This quite different view is
based on the propensity of following points. We may
looksintosevery possible reason, however, fore most reason for B is

. For example, . Also,

. This is arbitray to judge B according
only to the excuse | mentioned in the above paragraph. Similarly,
these reasons are also usable when we consider

that . Admittedly, Al O
Oood .By he same token, however,

B [ .Takingsintosaccount of all
these factors, we may reach the conclusion that .U

OO0O00O000dod AorBWhenitcomesto ,
Nevertheless, in my part, | prefer A rather than B as my inclination.
My arguments for this point are listed as follows. | agree with the

statement that without reservation since
Naturally It can be given a concrete
example . A ' more essential factor why | advocate the

argument of Is that. Obviously




.Take the case of a thing that
Futhermore, what is worth noticing fact is that
This demonstrates the undeniable fact that

Of course, choosing B also has advantages to some

extent, O 000BO1-20 O But
If all these factors are contemplated, the advantages of A carry more
weight than those of B. From what has been discussed above, we may
finally draw the conclusion that Oooouon
Oo0d Jo0ooood . There
may be by one or two disadvantages to
however, | believe that there are far more advantages. My arguments
for this point are listed as follows. First of all, perhaps one
disadvantages to IS that For
Instance, . Another drawback to

Involves the possibility that . For
example, . Even though there may be one or two
disadvantages to , the advantages far outweigh them.
The main reason for my propensity for IS that

. For exmaple . Another reason for my
inclination for IS that . For
example, . Inaword, in spite of the fact that
there may be a couple of disadvantages to , | feel
that the advantages are more obvious Ood

[] .Takingsintosaccount of all these factors, we may
reach the conclusion that Ooooooood
00O AorB Jooooon The




advantages of B carry more weight than those of A. There are

numerous reasons why , and | would explore only a few
of the most important ones here. One of the primary cause is
that . What is also worth noticing fact is
that . Futhermore,

. Although I agree that there may be
couple of disadvantages to | fell that the

advantages are more obvious . ,
Given the factors I have just outlined, I can only say

that OUuououoouoonud AorB
D0ooonod \When faced withe
decision of A or B, quite a few would claim that , but

others, in contrast, deem A/B as the premier choice and that is also
my point. Among countless factors which influence ,
there are three conspicuous aspects as follows. The main reason for
my propensity for IS that
Another reason can be seen by every person is
that . The argument | support in the first
paragraph is also in a position of advantage because
. Inaword,

Takingsintosaccount of all these factors, we may reach the
conclusion that Ouoooooodoon
[1 A or B From my point of view, it is advisable to choose A rather
than B. My arguments for this point are listed as follows. The main
reason for my propensity for IS that

. There is another factor that deserves some




words here. In aword, .Whileitis

true that the argument, | disagree hold a little bit of water, |

think OUoododoodn agreeor

disagree Nowadays, some may hold the opinion that

. But others have a negative attitude. As far

as | am concerned, | agree that . My arguments for

this point are listed as follows. | agree with the statement that
without reservation since

. Another reason why I agree with the above

statement is that | believe that .Inaword,

. Takingsintosaccount of all these

factors, we may reach the conclusion that Ooood

000000 agree or disagree Some people argue asifitis a

general truth that a .But to be

frank, I cannot agree with them. There are numerous reasons why |

hold no confidence on them, and | would explore only a few

primary ones here. The main problem with this argument is that it is

ignorant o the basic fact that ERERERERE

[] . Another reason why I disagree with the above
statement is that I believe that . What is more, some
students are interested in . Inaword,
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